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                Maximum Marks: 100

Attempt all the questions. 

SECTION-A (25 marks for each question)

1.  
a) 
Discuss the importance of knowing the intrinsic value.        


     [10]
     
b) 
Explain five broad approaches used for valuing a company.  


     [15]
2. 
You are looking at the valuation of a stable firm, Networks Limited done by an investment analyst. Based on an expected free cash flow of 54 million for the following year and an expected growth rate of 9 percent, the analyst has estimated the value of the firm to be 1800 million. However, he committed a mistake of using the book values of debt and equity. You do not know the book value weights employed by him but you know that the firm has a cost of equity of 20 percent and a post-tax debt of 10 per cent. The market value of equity is thrice its book value, whereas the market value of its debt is nine-tenths of its book value. What is the correct value of the firm?               






     [25]
Section-B 

Case Study (50 Marks)

Consider a firm that has assets in place in which it has capital invested of Rs 100 crores. Assume the following further facts about the firm:

1. 
The after-tax operating income on assets in place is Rs.15Crores. The return on capital is 15% expected to be sustained in the future, and the company has a cost of capital of 10%.

2. 
At the beginning of each of the next five years, the firm is expected to make investments of Rs. 10 crores each. These investments are also expected to earn 15% as a return on capital, and the cost of capital is expected to remain 10%.

3. 
After year 5, the company will continue to make investments and earnings will grow 5% a year, but the new investments will have a return on capital of only 10%, which is also the cost of the capital.

4. 
All assets and investments are expected to have infinite lives. Thus, the assets in place and the investments made in first five years will make 15% a year in perpetuity, with no growth.

Case Question:

Calculate the value of firm using Economic Value Added Approach.
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Attempt all the questions. 

SECTION-A (25 marks for each question)

1.
a) 
Discuss the applicability and limitations of the DCF Model.        


     [12]

b)  
What is Economic Profit? How is the value of the firm defined under the EP Model?                                                                                       
     [13]

2.           a)
The free cash flow of S Ltd is projected to grow at a compound annual average rate of 35% for the next 5 years. Growth is then expected to slow down to a normal 5% annual growth rate. The current year’s cash flow of S Ltd is Rs.4 lakh. S Ltd’s cost of capital during the high growth period is 18% and 12% beyond the fifth year, as growth stabilizes. Calculate the value of the S Ltd.                    



     [12]                                 
b) 
Alpha India Ltd. is trying to buy Beta India Ltd. Beta India Ltd., is a small biotechnology firm that develops products that are licensed to major pharmaceutical firms. The development costs are expected to generate negative cash flows of Rs. 10 lakh during the first year of the forecast period. Licensing fee is expected to generate positive cash flows of Rs. 5, 10, 15 and 20 lakh during 2-5 years respectively. Due to the emergence of competitive products cash flows are expected to grow annually at a modest 5% after the fifth year. The discount rate for the first five years is estimated to be 15% and then drop to 8% beyond the fifth year. Calculate the value of the firm. 

     [13]

Section-B 

Case Study (50 Marks)

XYZ Ltd. is considering merger with ABC Ltd. XYZ Ltd.’s shares are currently traded at Rs. 25. It has 2,00,000 shares outstanding and its profits after taxes (PAT) amount to Rs. 4,00,000. ABC Ltd. has 1,00,000 shares outstanding. Its current market price is Rs.12.50 and its PAT is Rs.1,00,000. The merger will be effected by means of a stock swap (exchange). ABC Ltd. has agreed to a plan under which XYZ Ltd. will offer the current market value of ABC Ltd.’s shares.
Case Question:

i. What are the pre-merger earnings per share (EPS) and P/E ratios of both the companies?









     [15]
ii. If ABC Ltd.’s P/E ratio is 8, what is its current market price? What is the exchange ratio? What will XYZ Ltd.’s post-merger EPS be?




     [20]
iii. What must the exchange ratio be for XYZ Ltd.’s that pre and post-merger EPS to  be the same?









     [15]
